Racines Variees (H)

Trouvez la racine de chaque nombre suivant.

32768 = 20736 =__ 27000
Y923521 = A6 = 36l
V100 = 4234256 = 6859
N1o24 = 5832 = 4331776
56 - N0 = e
Ys3r441 = 10648 = 2744
41 - 2400 = 529
450625 = 481 = 4160000
1 = A3y o= 1w
¥3913 = 14641 = Y16
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Racines Variées (H) Solutions

32 768

923 521

V100

V1 024

Y256

Y531 441

1

Y50 625

Trouvez la racine de chaque nombre suivant.

20 736

V16

Y234 256

35832

V100

310 648

2 401

Y81

1331

Y14 641

12

22

11

11

327 000

V361

36 859

Y331 776

<64

2 744

V529

160 000

1728

V16
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